Haryana Staff Selection Commission
Post :- Junior Engineer ( Horticulture )
Evening Session Advt No 7/2017 Cat No 29.

Okra belongs to which family ?

(1) Solanaceae (2) Malvaceae
(3) Euphorbiaceae (4) Polygonaceae
<Y forey oA o gafaa g 2

(1) =t (2)  wTAaET

(3) FwIfeTHT (4)  TIerRTAET

is a type of garden which produces special crops in relatively large quantities for
distant markets.

(1) Floating vegetable garden (2)  Kitchen gardening

(3) Market gardening (4)  Truck gardening
T qYE FT S2ATH g ST G AT [oIT AAEATHRT T=T 71T | 3 we et v g

(1) =TT Feeafa 3= (2) FFEe IEETT

(3) TSI AWTETHT (4) =F IETETL

Early maturing of many vegetables is resulted by

(1) High soil pH (2)  Poor aeration

(3) Deficient soil moisture (4)  Soil temperature

T Aot T STeal TadT T FHT0r | grar 872

(1) SF¥=TpH (2) FEATEA

(3)  H&T T H wHT (4) HET AT

Marsh spot in pea is due to

(1)  Cu deficiency (2)  Mn deficiency

(3) Fe deficiency (4) B deficiency

He | gl ereaT #91 grar g ?

(1) Cu=t (2)  MnFH

(3) Fe=#r (4) B

Post harvest loss of vegetables is about

(1) 40% (2) 35%

(3) 10% (4) 20%

TieSTAT T FEA & dTE T T FF hadT 2raT g ?

(1) 40% (2) 35%

(3) 10% (4) 20%

Gas used for refrigeration is

(1)  Nitrogen oxide (2)  Carbon dioxide
(3) Ammonia (4)  Sulphur dioxide
wefta & forw o e =1 e fepar ST € 2

(1) FATeEee SAFaTES (2) FTEA TTEATFATES

(3) erwIfAET (4) ToHL STEAFETES
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‘Kufri Swarna’ is a variety of which of the following crops for resistant to golden nematode ?

(1) Onion (2) Banana

(3) Turmeric (4) Potato
Forerifor # 3 ey et it et w3 S Jpay A Ay el 2 2
(1) T (2) FT

(3) &=l 4) =g

Pusa kanchan variety of turnip is selected from a cross of
(1) Local Meeruti and American Early Dwarf (2)  Local Red Round and Golden Ball

(3) Local Red and Nates Half Long (4) Golden Ball and Local Red
AT T TAT A (e T =TI FERH T R |

(1) =TT 93T UF STATCEhT e arae (2) AT AT TAT ST gt ared
(3)  TATFIT AT ST T FaT TEoT (4) AL T ST ST AT
Which crop is propagated through corms and cormels ?

(1) Gaillardia (2)  Phlox

(3) Gladiolus (4)  Verbena

FAHGT ST ATHET % GIET I ST HEA TATSd gl g ?

(1) FefSar (2) A

(3) wfeFew (4) AT

Fruit type of Mango:

(1) Drupe/Stone (2)  Berry

(3) Capsule (4) Pome

a T g FTHRAG ?

(1)  Teety/stEse 2 &

(3) o= (4) T

Which fruit crop's edible part is known as juicy placental hairs ?

(1) amun (2)  Strawberry

(3) Citrus (4) Fig

TR et AT B T QT 9T TR SISETEAT 9 aTaT 2rar g ?

(1) (2) =

(3) e (foz) (4) @StE

Which of the following is a climacteric fruit ?

(1) Grape (2) Ber

(3) Pineapple (4) Fig

Aeifa & & &I 97 FATSHFF B © ?

(1) =@ (2) &%

(3) ewTH (4) T

Die back and gummosis of citrus are observed due to the deficiency of which nutrient from the

following ?
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(1) Boron (2) Copper

(3) Molybdenum (4) Zinc

rifera ® & o qre it et | e aer & 797 o 3w Mrarh gterd e a8 ?
(1) === (2) afar

(3) wichesaw 4) &=

Which of the following fruit crop is known as Butter fruit ?

(1) Arecanut (2) Avocado

(3) Cocoa (4) Coconut

iR & & o et T 8t T Aa1d e gd & 2

(1) T (2) A

(3) =T (4) A=

Production of off-season vegetables is known as

(1) Vegetable forcing (2)  Early vegetables

(3) Late vegetables (4) Vegetable imposing
THTEHT oo T ICATET FAT FgATdT & ?

(1) afSeae wiET (2) oAt At

(3) = ATSEae @)  FSreae Tt
Pungency in garlic is due to

(1)  Allyl propyl disulphide (2)  Glucosilates

(3) Diallyl disulphide (4)  Oleoresin

g | drar s FRor grar g ?

(1) ufee g sTsaewEe (2) TIHIEE

(3) =Eue STEaehES (4)  srferstrefom

Which of the following commercial propagation methods is used for date palm ?
(1)  Suckers/slips (2)  Sword suckers

(3) Stooling (4)  Offshoot/sucker
Arifena & & FI = SATIETE Taeq TG T STIR gL F o Fhar srar g 2
(1) s/ ey (2)  HHT (FA(E) ATy
(3) wEfemT (4)  JermET/HATERT

Dr. B.P. Pal and Priyadarshani are varieties of which of the following ornamental crop ?
(1) Gladiolus (2) Rose

(3) Chinarose (4)  Marigold

=t A A a1 3w T Fitera # | fohe astrady wee 6 s 8 2

(1) R () T

(3) =EARS (4) T

Which state having maximum production under floriculture in India ?

(1)  Karnataka (2)

Kerala
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(3) Tamil Nadu (4)  West Bengal
AT & T T | 50 {0 % T8 Ja9 ATeF ITTET grar g ?

(1) FATew (2) F=
(3) dfHemTE (4)  afe=sw s
Which planting system enabling maximum number of plants in the orchards ?
(1) Hexagonal (2)  Rectangular system
(3)  Triangular system (4)  Counour system
TR TTT TOTTeAT ® AT | OTell 7 STt s Seq1 gt g ?
(1)  wesmf (2)  ATAATHRTT TOTTAT
(3)  TreRrofie yorreft (4) e OTTeAT
Most of Cultivated edible banana’s ploidy level is :
(1) Diploid (2)  Haploid
(3) Tetraploid (4)  Triploid
SATEHTIT FF QT FeAT TATAT TAL FAT 8 2
(1) ffe (2) s
(3) =i (4) P
Citrus aurantifolia is the scientific name of
(1) Mandarin (2) Kagzilime
(3) Sweet Orange (4) Lemon
T AT AT fFrew sfeifenrerT 21
(1) &R 2)  Frrh A
(3) wewd (4) g

What is the causal organism of nodal blight in pomegranate ?
(1) Xanthomonas axonopodis spv.punicae  (2)  Fusarium oxysporium p.v. cubensis

(3)  Fusarium oxysporium p.v. Psidii (4)  Xanthomonas compestris p.v. citri
AT | U ==Y TR SHa R A7 8 ?

(1) S THFE A spy. =t (2)  FSITRIH SHFTIIR p.v. FAARE
(3) wErEw atFaIEs p.v. St (4)  SreIHETE HiFeed pov. e
Which type of parthenocarpy found in Black Corianth variety of Grape ?

(1)  Stimulative (2)  Vegetative

(3) Sternospermocarpy (4) Artificial

I T sAe AU fohen ® R a3g 7 A wae 917 S[rar g ?

(1) = (2) arEata®

(3) wEATETHTETHT 4) FHEW

Baradari is an important feature of which garden?

(1) Mughal (2)  French

(3) English (4) Chinese

IR o 2T T Ag<a ol faawar g ?
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(1) g (2) =

(3) &R (4) e
Rashtrapati Bhavan garden at New Delhi was laid out by

(1)  Sir Edwin Lutyens (2)  Lord Curzon

(3) Shahjahan (4) Lady Hardinge

T2 foeht Rog Trguta swa= 3= 1 srferereas forae fBram o 2

(1) wxusfaw gead (2) =S FoAe

(3)  omesret (4) afreiEw
Carnation is classified as plant.

(1)  Short Day (2) LongDay

(3) Day Neutral (4)  None of these
I T 9 F T F FfTehd RAT ATaT E |

(1)  eroT giaeeTet (2) =T yfeaHTeLT

(3) feaw fAeder (4) =TI T FE T
Delonixregia is commonly known as

(1) Red Gulmohar (2)  Yellow Gulmohar
(3) Gulmohar (4)  Varigated Gulmohar
TATTAFILISIAT T SAHA T FAT Fgd 8 2

(1) e erEe (2) e eEET

(3)  TerHTRY (4)  sraford TEwET
Which of the following is very common cut flower, loose flower or pot plant in short days?
(1) Rose (2)  Tuberose

(3) Jasmine (4)  Chrysanthemum
T TaweTe § it § ¥ Fq B, 99 |l AT THA ATAT AT Al 97 8 2
(1) T (2) FETR

(3) =weT (4) erETSEr

Shrub when planted at regular interval to form a thick screen is known as
(1) Edge (2) Hedge

(3) Shrubbery (4) Fence

AT e 9% AT ST ATt ATTSAT T FAT Fgd @ ST qiel e o+ STl 8 ?
(1) =T (2) @t=

(3) ==&y (4) w=

Which of the following is used as climber, shrub or pot plant ?

(1)  Silver oak (2)  Bougainvillea

(3) Begonia (4) Beloperone

i & foeret START A1aT, ATST AT THA 6 01 F T | (A7 a8 ?

(1) Freazss (2) anEEteET

(3) amrf=aT (4) SO
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Gerbera is propagated through

(1)  Cuttings (2) Corms
(3) Division of clumps (4)  Tubers
LRGN R AT T I 1 e
(1) =ew (2) =THe
(3)  =Frew =T e (4) ==
Running water is the life of the gardens.
(1) Japanese (2) Mughal
(3) BothJapanese and Mughal (4)  None of these
FEAT ITHT IATHT T A 2 |
(1) ST (2) wm
(3)  SITATY 7 AT A (4) TAH T AL AE
Yellow plastic mulch repels
(1)  Aphid (2)  Leaf Hopper
(3) White fly (4)  Jasid
fareaeesides &A@ |
(1) ufee (2) fregw
(3) eaameft (4) Sfa=
Whiptail results from the deficiency of
(1) Manganese (2) Molybdenum
(3)  Sulphur (4) Boron

T FHT F feguea grar g |
(1) & (2) wicfiesaw
(3) #Ho=X (4) =

is one of the important bonsai style in which plant grows upright and then abruptly
turns downwards.

(1) Raftstyle (2)  Clump style
(3) Semi-cascade style (4) Cascade style
, ATAATE AT H & T Fgeaqur e, Sras e e 9z g i 6 sr=mees = 67 o 42 a0
gl
(1) T deft (2)  =Fereq eft
(3)  SATHTATHT AT (4)  HTITHT AAT

Which is the most important operation which should be done regularly to maintain the lawn in
good form ?

(1) Mowing (2) Weeding
(3) Manuaring and fertilization (4)  Rolling
g FATTS Hgea Ul 14 FIF A7 g STEEl A1 &l 7=t graad | @ & forw i e st =k 2
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(1) AT (2) farg

(3) @T= STAAT 3T 3T (4) AT
Being a , India has the climate to nurture plants all the year round.
(1)  Sub-tropical country (2)  Tropical country
(3) Temperate country (4)  Deciduous country
B % HILOT, Id § 92 F9 Grel o Tooerd STaaryg gt & |
(1)  oroor F9r (2)  SourRfeaefa Tor
(3)  ofareor zer (4)  oofoTet Ier

Choose the very useful handy tool for pruning both herbaceous and woody stems of moderate
thickness.

(1) Garden knife (2)  Pruner
(3) Secateur (4)  Scissor
HETH HIETS o AT 3T FTIHAT T ZA1 61 Hie-Fie & (o0 Td STIET AT ITHLT H9 97 8 ?
(1) S=mT=ETE (2) T
(3) &= (4) &=
Which one is commercially most suitable climber for porches ?
(1) Clerodendrum thomsonae (2)  Allamanda cathartica
(3) Clerodendrum splendens (4)  Quisqualis indica
T (FTEHEY) & oI e &9 § gaiiasd U adT Hid €1 g 2
(1) eSS H THEET (2)  UATHFET FATIEHT
(3) FAUISSH TIreH (4) TeEgTom SR
What is the first task of any landscape architect’s ?
(1)  Site analysis (2)  Site identification
(3) Designing site (4)  Planning for development
et o1 SpATpf AT 7 TeT FE FATEATE ?
(1) et oo (2) wa= e
(3) oS (4) o= % forg smrsrET
are known as Wandering Jews.
(1)  Schefflera (2)  Tillandsia
(3) Zebrina (4)  Tradescantia
T IaHt SIS Fgd @ |
(1) o (2) fea=fEar
(3)  SaTEAT (4)  EERteEm

Which of the following is also known as cat’s tail ?
(1)  Acalypha hispida (2)  Acalypha wilkesiana ‘Brownii’
(3) Allamanda nerifolia (4)  Allamanda schottii
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it & & e e oo T Fegd 8 2

(1) UwreTeE RFRTeT (2)  TUehTeTEt faesharaTT e
(3) UaATHET AT (4)  UATHST hIET
Series of arches joined together is called as

(1)  Arbour (2) Edge

(3) Hedge (4) Pergola
FILOT T G@AT Fl THATH ST FIT FgATdT g ?

(1) = (2) w1

(3) =t (4) Hear

Public parks are considered as of cities.

(1) Heart (2) Eyes

(3) Lungs (4) Mind

TS A IATHT T ML FT FEdg |

(1) === (2) iE

(3) ww= 4) H7

Which of the following trees produces yellow flowers ?

(1) Colvillea racemosa (2)  Peltophorum pterocarpum
(3) Cassia nodosa (4)  Jacranda mimosaefolia
FIe G 9T I B 2dT1 g 2

(1)  FretateET wEET (2)  UCEIHIRH SLrHTIH
(3) wFEETATEMET (4)  StRreT HEETERICET
Staking and pinching are important operations in

(1) Tuberose (2)  Chrysanthemum
(3) Gerbera (4) Rose

TR T S Sgpad geg<aqu #1 § ?

(1) e (2) TorETSEr

(3) e (4) Temme

FPO (Food Product Order) was passed by Government of India in

(1) 1855 (2) 1965

(3) 1865 (4) 1955

AT LR 5T FPO (| IS 3= H gria o o)
(1) 1855 (2) 1965

(3) 1865 (4) 1955

Vinegar concentration in preservative should not exceed than

(1) 4% 2) 2%

(3) 1.5% (4) 1%

ufewert # foeT "igar H oTfa T8l gl AT u |

(1) 4% 2) 2%

(3) 15% (4) 1%

Zero energy cool chamber was developed by

(1) S.K.Gupta (2) Needham

(3) S.K.Roy (4)  Nicolas Appert

T o= STt ofta et & Fasprer foraT T =2
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(1) ©wH & TAr (2) ew

(3) wEF T (4) e
In which city of Haryana, the Railway Heritage Museum is situated ?
(1)  Kurukshetra (2)  Rewari

(3) Panipat (4)  Sonipat
=T 3 v 9reT & er 2R mfr 32

(1) T @) Y

(3) urUa (4) =

In which text the name of Kurukshetra is referred as "Harishetra" ?
(1) Vayu-puran (2)  Garud-puran
(3)  Shiv-puran (4)  Skanda-puran
FEAT FTATH GRAT FFE AT H 2

(1) = (2) e

(3) T (4) TR

What were the effects of Sachar formula ?

(1)  Punjab was divided in three parts Punjabi areas, Hindi areas & Urdu region
(2)  Punjab was divided into Punjabi areas and Hindi region in two parts

(3)  Punjab was divided into Punjabi areas & Urdu region in two parts

(4) None of these

T FIYAT AR &I T FIT TAT §AT?

(1)  OSTTE 7 gSATeT &, B o siw 3% o U o1 e #§ afe R )
(2) OIS AT USTET & AT B o v & fRet § ate g wm

(3)  ITTer ¥ AT & 3T 35 & U & e # e g wm

(4) =H HFE AL

Who is the President of the Haryana Governance Reform Authority ?

(1)  Dr. Sunil Verma (2)  Dr.Pramod Kumar

(3) Dr. Ajay Sharma (4)  None of these

gherTor st R statfdy 7 srewer e 872

(1) =t g Fat (2) =t yHRFIAR

(3) =t srory erml (4)  TAH FFE AL

Whom of the following sports-person of Haryana is basketball player ?

(1)  Ajmer Singh (2) Suman Bala

(3) Saina Nehwal (4)  Satyaveer Singh

5 5 & gRAToT 7 F19 |97 TSt areheatd ¥ qafaq g ?

(1) sz fEE (2) gETETT

(3)  HTEAT ARATH (4) wFER g

Which of the following pair is incorrect ?

(1)  Sara Gurpal - Modelling (2)  Tulika Ganguly - Indian Idol
(3) Rupinder Handa - Producer (4)  Rao Inderjit Singh - Politician
forer # & 17 &7 STT=T €A} AT AT 27

(1) &7 T - wiefenT (2)  TeATRT AT - Ef0eaT e

(3) ==z =T fAwmar (4) T FeETslia g - T s
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Sandeep Singh is associated with

(1)  Cricket (2)  Wrestling
(3) Hockey (4) Volleyball
Ty g e g & grafera g2

(1) fFre (2)  FedT

(3) e (4)  atefrater
During which month Surajkund crafts fair is held ?

(1) January (2)  February
(3) March (4)  April
IS FHTFE HAT o |1 | AT gram g2

(1) == (2) W

(3) =@ 4) o
During April-May Shah Chokha Khori Mela is held in the district of
(1)  Kurukshetra (2)  Panipat

(3) Gurgaon (4)  None of these
T AT o I 9ATg A@T G HAT o6t et F ritsra grar 872

(1) F=e (2) greHa

(3) T=wE (4)  =TH & AE AL
Where is Asigarh Fort located in Haryana ?

(1) Barwala (2)  Narnaul

(3) Hansi Town (4) Agroha
g i iz fe wt oo 22

(1) swErr (2) ATEAT

(3) &l e (4) T

Haryana state was formed on 1 November, 1966 on recommendation of Parliamentary
Committee headed by :

(1)  Lal Bahadur Shastri (2)  Indira Gandhi

(3) Sardar Hukam Singh (4)  Sir Chottu Ram
AT 7757 7 AT | 996, 1966 T HH AT sTeqeqar arett Saarg Gt ol ST 9% o o
(1) T 9gTeL ot (2) EfeRrame

(3) &= &g (4) "wBTH

First CNG DEMU train was started between which two stations in Haryana State ?
(1)  Jhajjar to Rewari (2)  Rohtak to Rewari

(3) Rohtak to Chandigarh (4) Chandigarh to Hisar
Tt /T U S S o gt TS H R 37 ToEl o He 9ers 15 ?

(1) =SS =T (2) TgaE T =TS

(3) YrEa® ¥ ATENE (4) =TS | REw

‘Beti ka Salam Rashtra ke Naam’ scheme is associated with
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(1) Essay competition (2)  Sports competition

(3)  Flag-hoisting (4)  None of these

"I T HATH Y o ATH TTSTAT TFIET &

(1) Fevg wfoRara (2) @ YraAaT &

(3) eaSRETH (4) TAH T EE T
Resident of Bhiwani, famous literator Tulsi Das Sharma ‘Dinesh’ wrote the following :
(1) Satsai (2)  Bhakta Bharati

(3) Satyagrahi Prahlad (4)  All of these

et et witg arfecrs qerdtery omt i f Ffa g

(1) &= (2)  9<F AT

(3) TATILT TeTR 4) Tasfr

The images of Sun God are discovered from which of the following places of Haryana ?
(1) Hansi (2) Tosam

(3) Beri (4)  All of these

T FFqr & SiaATe ghamom & Aetafed § & $iF F 7 & gisi 1% 8 ?

(1) == (2) drEw

(3) (4) =FEad

Gyanodaya was newspaper published from Hisar.

(1) Weekly (2) Daily

(3) Monthly (4)  None of these
AT FHTATCI 9T, ST BT & THTiera grar o |

(1) =T @) F

(3) =l (4)  =TIH F L TS
Ministry of Raj Bhawan's Affairs of Govt. of Haryana is allotted to

(1) Manoharlal Khattar (2)  Ram Bilas Sharma
(3) O.P.Dhankar (4)  Capt. Abhimanyu
FRATOT ALY | TST9aT WA 7 JATAT fordr |97 3T 52

(1) ¥R @ge (2) T Wt

(3) &rdT gwE (4)  Fed AT
Navodaya Vidyalaya is not situated at which of the following places in Haryana ?
(1)  Titram (Kaithal) (2)  Odhan (Sirsa)

(3) Devrala (Bhiwani) (4)  Akbarpur (Ambala)
g # fMeferfea § & fr v uw 7eeg Remea faa gt g 2

(1) fe=aw (o) (2) e ()

(3)  ==wTE (foar) (4) AFATIL (FTFETAT

According to the Legend, the Pandavas had built a temple in the honour of Jayanti Devi at which
place in the Haryana State ?

(1) Karnal (2)  Rohtak

(3) Jind (4)  None of these



70.

71.

72.

73.

74.

75.

Traaedt & ST, TTU=ET F gRATUT 5T & Fohe T 9% =t <&t % g¥0T9 | Hivay F7 At #xarmar
a7 ?

(1) Fam= (2) TrEaw

(3) fi= (4) TTHHEE AR

Which Pilgrimage of the following is situated between Haryana and Rajasthan ?
(1) Chandrakoop (2)  Dhosi Hill

(3) Aditi Temple (4)  None of these

BT ST TS &= Fofated & & #i9 |7 drefeae ffaq g2

(1) =g (2) e ETE

(3) sffysfx (4)  =TIH F AL TS

One of the 51 Shaktipiths, the Bhadrakaali Pith is located in

(1) Gurgaon (2)  Kurukshetra

(3) Baghaut (4)  Pundari

THFATA ARFAST & F U Faawrelt s Fgf faa g 2

(1) T== (2 TEE

(3)  arET 4) quEh

Recently Haryana Government decided to give unusual Gift of to the Gold and Bronze
Medal winners in the World Youth Women Boxing Championship.

(1) Desi Cow (2)  Tractor

(3) Flat (4)  None of these

g &1 & AT a7 fored Far afger gEarsit AFaaaioT § €&qor ofiT Heq 9@ faeiar & FHiF a1
FETHTIT IUETE & &7 i fera 82

(1) =TI (2) T

(3) e (4) TTHHEE AR
Haryana Government announced lifetime pension for Hindi Satyagrahis of
(1) " 7,000 (2) 10,000

(3) 79,000 (4)  None of these

g gw 7 B aemteat & for sfrae wiq fraet e i = & 82
(1) " 7,000 (2) 10,000

(3) 9,000 (4) TAHFFE TE
Which district of Haryana does not share its boundary with Uttar Pradesh ?
(1) Karnal (2)  Sonipat

(3) Faridabad (4)  Rohtak

ST &7 I |7 SreAT ST TR0 3 AT (o7 HIHT FTAT 71 HLar?

(1) =T (2) =

(8) i @) T

Who is known as Grand Old lady of Indian Independence Movement ?

(1) Mother Teressa (2)  Amrit Kaur

(3) Putli Bai (4)  Aruna Asaf Ali

ATCA T TIAAAT SR i T Arog At o hgr 17 82
(1) wezaET (2) FAFR
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(3) gaeftars (4)  STEOIT STEE 37T

Celsius and Fahrenheit show the same temperature at

(1) 30degree (2) 40 degree

(3) 50degree (4) 60degree
o i weasie e =3t v ue & aromme gaia € 2

(1) 30fedr (2) 40T

(3) 50T (4) 60T

Which country hosted the 2017 Asia-Pacific Economic Co-operation (APEC) Summit ?
(1) India (2) China

(3) Srilanka (4)  Vietnam

A T X9 T 2017 Tl ata s snfds aganT (APEC) fora avqe it Fstart it ?
(1) wra (2) =

(3) i< 4) FrEaam

The partition of Bengal was announced on

(1) 7 July, 1905 (2) 7 August, 1905
(3) 7 May, 1905 (4) 7 January, 1905
ERIEEIRERIEEEE R ECRER IR DI

(1) 7 =mE, 1905 (2) 7 3mrEd, 1905
(3) 77,1905 (4) 7 SHasT, 1905
The World Pneumonia day is observed on

(1) 15 December (2) 12 November
(3) 8May (4) 2 February
From fAwaT g Fa qamaT ST 8 2

(1) 15feFeax (2) 1274eET

(3) 8= 4) 2%Ed
Arrange the given words in the meaningful sequence :

1. Accident

2. Hospital

3. Recovery

4, Surgery

5. Ambulance

(1) 25431 (2) 15243

(3) 13425 (4) 15234

3w T ereat AT et SR § AR Y

2. giedtes

3 RETE

4 EER

5. wEEH

(1) 25431 (2) 15243
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(3) 13425 (4) 15234
X, 28,56, 112, 224 is a series, then x=7?

(1) 16 (2) 12
3 13 (4) 14
X, 28, 56, 112, 224 TH Foft F#H E, AT x = ?

(1) 16 (2) 12
3) 13 (4) 14

WILB: VIKA: : VINZ : ?
Choose the same relationship.

(1)  umry (2)  UNHY
(3) ZGHY (4) UMY
WILB : VIKA : : VINZ : ?

THTT Hael FT F4AT HI9T |

(1)  umry (2)  UNHY
(3) ZGHY (4) UMY

Introducing Sunil, Shivani said, "He is the father of the only son of my daughter." How Sunil is
related to Shivani ?

(1) Son-in-law (2) Wife

(3) Daughter (4)  Mother

AT T TR=T FA U AT 7 Fgl 'qg J 9eT % THAT T A1 997 2 | A (@it & 59 qafeod
?

(1) =™ (2)

3) @ (4) =t

A can do a certain job in 12 days. B is 60% more efficient than A. The number of days, it takes B
to do the same piece of work, is

(1) 6 (six) days (2) 9 (nine) days

(3) 71/2 (Seven and half) days (4) 8 (eight) days

A Treft fAfema & 7 12 i § U F aar & | B, A &1 @1 § 60% Ffe 327 8 | i 6t s s
et B I T T T qHAT 8, BRI

(1) 6@ = (2) 9 () fam

(3) 7172 (\e ATa) o (4) 8 (zms) fa=

One year ago the ratio between Samir and Ashok's age was 4 : 3. One year hence the ratio of
their age will be 5 : 4. What is the sum of their present ages in years ?

(1) 12 years (2) 15years

(3) 16 years (4) Cannot be determined

TF a9 Td THIT 3T LT 6 ST AT AT 4 - 3 AT | Tq F | qY I18 T AAATT 5 - 4 BT SATUIAT | 30T
FATTT IH T AT T H FIT S ?

(1) 1279 (2) 15

(3) 16aw (4) Tt a2t BT s aear |

Find the least number which, when divided by 72, 80 and 88, leaves the remainders 52, 60 and
68 respectively.
(1) 7200 (2) 7900
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(3) 8200 (4) 9200

TE BT & BIET HEAT ATH HIT910 508 72, 80 TAT 88 | FAATHSa ee 92 a9 F#eT 52, 60 3T 68 AT 2 |

(1) 7200 (2) 7900
(3) 8200 (4) 9200

If n and p are both odd numbers, then which of the following numbers must be an even

number ?

(1) n+p+1 (2) np

(3) 2n+p (4 n+p

T n 3T p AT oo "eard g, a1 93 § & I | 16T 99 9eAr gri ?
(1) n+p+1 (2) np

(3) 2n+p (4) n+p

When iron is exposed to air, it is

(1) oxidised (2) decomposed
(3) displaced (4) reduced

ST AT HT gaT H GAT FIST SATqT & af T8

(1)  rRfiga grar e | (2) fefrgamme)
(3) fEafTgm@Te| (4) =T EErz|
Action of pepsin requires a medium which is

(1) alkaline (2)  acidic

(3) neutral (4) none of these
aftas Y T o fore wreas it sraegsar g s g

(1) amm= (2) et

(3)  S=TEN (4) EAHHFL AL
The colour of an object depends upon the light which it

(1) reflects (2)  absorbs

(3) transmits (4)  refracts

FoReT aeq &1 37 39 w1 AT wear g S A

(1) wEfddFearsg | (2) =TT FATE |
(3) wETR@=FTETE | (4) STafdqFLarg |

Supply suitable article in the following blank if needed :
Shatabdi Express is very fast.

(1) A (2)  An

(3) The (4)  No article

Supply suitable preposition in the following blank :

There is no use going there.
(1) about (2) to
(3) off (4) of

Give one word substitute for the following expression :
is a closed political meeting.
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(1) Caucus (2) Clique
(3) Constellation (4) Caravan

Select the word from the following that is most similar in meaning to the word in capital letters:
KINDLE

(1) Satisfy (2)  Putout

(3) Satiate (4) Ignite

Select the word from the following that is opposite in meaning to the word in capital letters:
PACIFY

(1) Quench (2)  Lull

(3) Inflame (4) Allay

‘STOAT Ioe] HTLT FIAT HITAL FT AT &

(1) Seg@EdiE (2) = FT BT FEAT
(3) = fHer (4) ST HT T
EECINCI R IDEIE T

(1) T 2) REm=

(3) == (4) =

90 & ¥ 1 |7 55 qHIE HT I ARl 27

(1)  wrdeTe (2) 9T

(3) zafEew (4) T

‘T % T TGH TN, G AT T3 AR H AAFE 8

(1)  TITE sTAH (2) ITHT AAFE
(3) FTH ATHL (4) AT AAHL
e & & fohr oreg Y ASAT AR E 2

(1) =T 2 =

(3) er=hr (4) WA




